NOTICE TECHNIQUE

Chauffage mobiles au gaz propane

BRASILIAM

BRASILIA MB : Carrosserie blanche
BRASILIA MI : Carrosserie inox

SOVELOR

C €0407
S VE I_ o R® 23 rue E. Hénaff - CS 80010 - 69694 VENISSIEUX Cedex
FRANCE T 04.78.47.11.11 - FAX 04.78.43.48.82




N L7
AR
Caution ... e, 1
Heater Stand and Location ...........ccccovvviiiiiiic e 2
‘Gas Requirements ........ e e 2
|Leakage Test ..... e e e 5
Operation ...........ooeviviiennn.. O 3
RS (] = To [ T -
Cleaning and Care ................ e 4
Parts and Specifications .............. e PO 5
Assembly Parts ......... PP ST
Assembly Procedures .............. e 8
Problems Check List ..........cocoiiiiiiiiiiiiiin, S 10
Achtung e s e e e et ee e et ir e 11
Plazierung Und Aufstellung Des Terrassenhelzgerats e 12
Best|mmungen far Flaschengas S ereesnrreasaear eihaea e 12
| eckkontrolle --«ccerimmin it ........... 12
Betrieb und Lagerung des Terrassenheizers ----.- R P 13
Reinigung und Pﬂege SETEERTRETRIETEETRCTEE e aaaeiaae 13
Teile und Spezifikationen .......... ................ e vas 14
Installation und Werkzeug ----v-«----.. feieeniaad e ereriaaies 15
/,Aufbau Und Insta”atlon R A rerseany ae 16
Gasstahlrohr Und Gasschlauch Installation  --------e-0 0o 18

Kontro||_|_iste Far St('jrungen . £



* ® e O o o 0@

CAUTION

PLEASE READ CAREFUL_L}' THE FOLLOWING SAFETY GUIDELINES BEFORE OPERATION.

Do not use the patio heater for indoors. .

Installation and repair should be done by a qualified service person.

Improper installation, adjustment, alteration can cause personal injury or property damage.

Do not attempt to alter the unit in any manner.

Never replace or substitute the regulator with any regulator other than the factory-suggested
replacement.

Do not store or use gasoline or other flammable vapors or liquids in the heater unit.

The Whole gas system, hose, regulator; pilot or burner should be inspected for leaks or damage before
use, and at least annually by a qualified service person. '

All leak tests should be done with a soap solution. Never use an open flame to check for leaks.
Do not use the heater until all connections have been leak fested.

Turn off the gas valve immediately if smell of gas is detected.

Do not transport heater while it's operating. ‘

Do not move the heater after it has been turned off until the temperature has cooled down.

\Keep the ventilation opening of the cylinder enclosure free and-clear of debris.

Do not paint the radiant screen, control panel or top canopy reftector.
Control compartment, bumer and circulation air passageways of the heater must be kept clean.

" Frequent cleaning may be required as necéssary.

The LP tank should be turned off when the heater is not in use.

Check the heater immediately if any of the foliowing occurs:

- The heater does not reach temperature.

- The burner makes popping noise during use (a slight noise is normal when the burner is
extinguished).

- Smell of gas in conjunction with extreme vellow tipping of the burner flames.

The LP regulator/hose assembiy must be located out of pathways where people may trip over it or in

area where the hose will not be subject to accidental damage.

Any guard or other protective device removed for servicing the heater must be replaced before

operating the heater.

- Adults and children should stay away from high tem;férature surface to avoid burns or Clothing ignition.

Children should be carefully supervised when they are in the area of the heater.
Clothing or other flammable materials should not be hung on the heater or placed on or near the heater.

The user assumes all risk in the assembly and operation of the gas heater. Failure
to follow the warnings and instructions in this manual can result in severe personal

WARNING injury, death or property damage. If user cannot read or fully understand the

_instruction manual, please contact your dealer. Supplier will not be responsible for
user's negligence. _




HEATER STAND AND LOCATION

® The heater is primarily for outdoor use only. Do not use it for indoor or- : CEILING
it an enclosed area. Always ensure that adequate fresh air ventilation éI
is provided. o >

® Always maintain proper clearance from combustible materials, i.e. top
.45 cm (18”) and sides 60 cm (24"} minimum.
® [Heater must be placed on level firm ground.
® Never operate heater in an explosive atmosphere like in areas where -
gasoline or other flammable liquids or vapors are stored.
® To protect heater from strong wind, anchor the base securely fo the
ground with screws. N

WALL

Fevtification of base to tha ground

 A—

GAS REQUIREMENTS

® Use propane or butane gas only.

Maximum inlet pressure of propane regulator must nat exceed 100 PSI.

e A minimum supply pressure of 28 mbar (11" W.C.) is required for the purpose of input adjustment for

propane gas. : _

®.  The pressure regulator and hose assembly to be used must conform to local standard codes.

® The installation must conform to local codes, or in the absence of local codes, with the standard for the
storage and handling of liquid petroleum gases.

® Adented, rusted or damaged propane tank may be hazardous and should be checked by your tank
‘supplier. Never use a propane tank with a damaged valve connection.

® The propane tank must be arrangeéd to provide for vapor withdrawal from the operating cylinder.

® Never connect an unregulated propane tank to the heater. '

LEAKAGE TEST -

Gas cennections on the heater are leak tested at the factory prior to shipment. A complete gas tightness

check must be performéd at the installation site due to possible mishandling--in.shipment Or excessive

pressure being applied to the heater.

® The heater must be checked with a full cylinder.

® Make sure the safety qo_htrol valve is in the OFF position.

® Make a soap solution of one part liquid detergent and one part water. The soap solution can be applied
with a spray bottle, brush or rag. Soap bubbles will appear in case of a leak.

® Turn the gas supply ON. ' ,

® Incaseofa leak, turn off the gas supply. Tighten any leaking fittings, then turn the gas supply on and re-
check. Contact your dealer for assistance if bubbles continue to appear.

® Never leak test while smoking.



OPERATION
TO TURN ON THE HEATER
1. Turn on the valve on the gas supply cylinder completely.

2. Press and turn the variable control knob to PILOT pasition (counter-clockwise 90°).

3. Press down the variable control knob and hold for 30 seconds. While holding down the variable control knob,
press the igniter button several times until the pilot flame lights.

Release the variable control knob after the pilot flame lights.

Note: '

¢ if a new tank has just been connected, please allow at least
one minute for the air in the gas pipeline to purge out through
the pilot hole.

® When lighting the pilot flame make sure that the variable
control knob is continuously pressed down while pressing the
igniter button. Variable control knob can be released after the |
pilot flame ilghts

& Pilot flame can be watched and checked from the small round
window with sliding lid located at the bottom of the flame
screen (to the left or right side of the controller).

® If the pilot flame does not light or it goes out, repeat step 3.

4. Press lightly and tumn the variable control knob to LO (minimum)

position and leave it there for about 5 minutes, then furmn the
variable knob to switch to desired temperature position.

TO TURN OFF THE HEATER
1. Turn the variable confrol knob to PILOT position.
2. Press and turn the variable control knob to OFF position.

Variable control knob

~ Igniter

Igniter

3.Turn off the valve on the gas supply cylinder completaly.
STORAGE -
1. Always close the gas valve of the gas cylinder after use or in case of a disturbance.
2. Remove the pressure cohtro[ler and the hose.
3. Chéck the tightness of the gas valve and for damage. If you suspect a damage, have it changed by your gas dealer.
4

Never store liquid gas cylinder in a sub-terrain, or at places without adequate air ventilation.
CLEANING AND CARE

® \Wipe off powder coated surfaces with soft, m0|st rag. For lacquer surfaces use suitable cleaners.
_ Do not clean heater with cleaners that are combust ble or corrosive.

® Remove debris from the bumner to keep it clean and safe for use.



PARTS AND SPECIFICATIONS

813 mm

A |

Reflector £

Flame screen el

Burner base

Air admittance fence
Gas valve controller
' Base of control housing

Post
7 ! o \!\
© Tank E 'ﬁ ; i :
Tank housing support . E y ' i E
o 1 Ol
Stand . —

A. Construction arid characteristics

Transportable terrace/garden heater with tank housing

~ Casing in steel with powder-coating or stainless steel

Soluble gas connections are equipped with metal clamp
Stainiess steel flame screen
Heat emission from reflector

775 mm

2210 mm




" B. Specifications

® For outdoor use only
Uses propane or butane gas only
Max. watiage: 12000 watis
Min. wattage: 5000 watts
Gonsumption: 450 g/hr — 870 g/hr

Weight: G.W.:24 0KG
N.W.:18.5KG

Height: 2210 mm including stand
‘® CE/ CSA cerificates

C. Table of openings

Gas pressure manifold _ Main opening Opening of pilot burner
mm Hx0
280/300 1.9 mm 0.18mm
500 1.8 mm 0.18mm




ASSEMBLY PARTS

- Tools needed:;

Open end wrench 10 & 13 mm

Adjustable opening wrench (2) 20 cm long
Slip joint pliers 23 cm long '
Philips screwdriver w/ medium blade

Teflon plumbing tape for joints

Spray hottle of soap solution for leakage test

Parts supplied:

Stand with LPG tank housing

_Assembly post with 3 pcs post brackets

10 mm x 86 cm (L) galvghized steel pipe
Reflector 813 mm with 6 pcs washers @8 mm and 3 pcs M8 dome nuts.
3 pcs 90 mm pins for reflector support

4 pcs bolts M6 x 10 mm for assembly post and burner

6 pcs bolts & nuts M6 x 35 mm for post and post brackets
3 pes bolts M8 x 16 mm for post brackets and stand

3 pcs ground fixer . '

6 pcs M6 x 10 mm ground fixer bolts & nuts

- 2 pcs wheels{optional)



ASSEMBLY PROCEDURES

sTeP | | | o STEP 1

1-1. Put the 3 pcs post brackets on each position on the base as
shown in the picture. _
1-2. Use 3 pcs M8 x 16 mm bolis to join the post brackets and stand.

o Souare metal
¥ support

N\ . Stand

STeP? - STEP 2

2-1. Put the -pOst'on the tdp of 3 pcs post brackets.
2-2. Use B pcs M6 x 35 mm bolts and nuts to connect the post to the ' y/
3 pcs post brackets. Tighten the bolts and nuts. |

STEP 3 . | | STEP 3

Place the tank housing on the stand.

Tank housing
t :




STEP 4
4-1. Secure the refiector support bolts on flame screen cap with 3 pes
90 mm pins. .
4-2. Fit the gas hosefpipe nut to the burner gas inlet connector.
4-3, Tighten the gas hose/pipe nut and gas inlet thread.
4-4. Fix the compieted burner unit to the post by 4 pcs M6 x 10 mm bolts.

STEP 5
5-1. Check whether the connection of vertical pbst and burner are
| assembled according to instructions, and all bolts and nuts are
tightened. _
5-2. Put washer @8 mm on each reflector support bolt.

STEP 6
6-1. Fasten the refiector with 3 pcs washers and 3 pcs M8 mm castie nuts.

STEP 7 _

7-1. Bring up the tank housihg and rest it on the post plate.

7-2. Connect the regulator to the gas tank and tighten it with adjustable
wrench.

7-3. Connect the end thread of inlet gas hose to the regulator.

7-4. Put LPG gas tank on the stand.

STEP 5

Reflector flat washer

Gas tank

Regulater




" ASSEMBLY OF GAS PIPE & GAS HOSE
- (FOR GERMANY ONLY)

Counter-Colockwise

@ ' STEP 2
C_/ CONNECT THE GAS PIPE TO THE GAS
' BURNNER INLET AND TIGHTENED WITH
WRENCH
GAS PIPE
N’
-

s 7
WRENCH

CLOCKWISE @ "

WRENCH

STEP 1
CONNECT THE GAS HOSE TO
THE GAS PIPE AND TIGHTENED
WITH WRENCH

GAS HOSE



FPROBLEM

Pilot will not light

Pitot will not stay on

Burner will not light

Burner flame is low

. Emitter glows uneven

Thick black smoke

Carbon build-up

PROBABLE CAUSE

Gas valve may be OFF
Tank fuel empty -
Opening biocked

Air in supply system

Loose cannections
Low gas pressure

Debris around pilot
Loose connections
Thermocbuple bad
Gas leak in line
Lack of fuel preésure

Pressure is low

Opening blocked
Conirol is not ON
Thermocouple bad

Pilot light assembly bent
Not in correct location

Supply hose is beht or twisted

Low gas pressure

Base is nof on a level surface

Biockage in burner

Dirt or film on reflector and flame
screen :

PROBLEMS CHECK LIST

SOLUTION

Turn the gas valve ON
Refill LPG tank
Clean or replace opening

Purge air from lines by pressing the
control knob untit you smell gas

Check all fittings

Replace cylinder with a new
cylinder

Clean dirty area

Tighten connections

Replace thermocouple

Check connections

Tank near empty. Refill LPG tank.

Tank near empty. Refill LPG tank.
Remove and clean

Turn valve to ON

Replace thermocouple

Place pilot properly

Position properly and retry

. Straighten hose and perform leak

test on hose

Replace cylinder with a new
cylinder

Place heater on a level surface

Turn off the heater and let it cool.
Remove blockage and clear burner
inside and outside

Clean reflector and flame screen



Bitte lesen Sie die folgenden Sicherheitsrichtlinien-vor Inbetriebnahme sorgfiltig durch!

® Das Terrasseheizgerat ist nicht fur Innenaufstellung. _
® Installation und Reparatur diirfen nur von autorisierten Installateuren durchgefiihrt werden.

®  Unkorrekte Installation, Einstellungen bzw. Anderungen kénnen zu Verl-etzungen' von Personen oder
Sachbeschéadigung flihren.

- @  Bitte versuchen Sie nicht, das Terrassenheizgerst auf irgendeine Weise zu andern.
® Der Regler darf nur gegen einen vom Werk empfohlenen Regler ausgetauscht werden.

® Benzin oder sonstige entflammbare Gase oder Flissigkeiten diirfen nicht im Terrassenheizgerét
aufbewahrt bzw. benutzt werden. '

® Das gesamte Gassystem, der SchIaLlch, Regler, Ziinder sowie Brenner milssen vor Inbetriebnahme auf
Undichtigkeiten bzw. Beschadigungen Gberprift werden.

® Samtliche Dichtigkeitskontrollen missen mit einer Seifenldsung durchgefiihrt werden. Die Uberpriifung
auf Undichtigkeiten darf niemals mit einer offenen Flamme vorgenommen werden.

® Das Terrassenheizgerat darf erst in Gebrauch genommen werden, wenn alle Anschiiisse auf Lecks
kontrolliert worden sind. '

Das Gas muss sofort abgestellt werden, wenn Gasgeruch festgestellt wird.
Das Terrassenheizgerat darf nicht wéhfend Betrieb transportiert werden.

® Das Terrassenheizgerat darf nach dem Abstelien e\rst dann wieder transportiert werden, wenn es
abgekihlt ist. ' )

® Die Lifterdfinung des Gasflaschengehéuses muss frei von Verschmutzungen gehalten werden.

®  Strahlungskopf, Bedienungseinheit und der Reflektor des Terrassenheizgerits dirfen nicht lackiert
werden.

® Die Bedienungseinheit, der Brenner und die Zirkulations-Luftkanale missen sauber gehalten werden.
Bei Bedarf missen die Teile haufig gereinigt werden.

® Der LPG Gasbehélter muss abgestelit werden, wenn das Terrassenheizgerat nicht in Gebrauch ist.

® Das Terrassenheizgerit muss in folgenden Fallen sofort Gberpriift werden:
- Das Terrassenheizgerét wird nicht warm.
- Der Brenner macht Puffgerdusche beim Betrieb {ein leichtes Geréusch ist nach dem
Abstellen des Brenners normal.) __ : _
- Gasgeruch in Zusammenhang mit starker gelber Farbung der Flammenspitzen des Brenners

® Die LPG Regler/Schiaucheinheit diirfen nicht in Durchgéingen angebracht werden, wo jemand {ber sie
stolpern kénnte bzw. in Bereichen, in denen der Schlauch versehentlich beschadigt werden kann.

@ Schulzgitter oder sonstige Schutzvorrichtungen, die aus Wartungsgriinden vom Terrassenheizgeréat
abmontiert wurden, miissen vor Inbetriebnahme des Terrassenheizgerits wieder angebaut sein.

® Erwachsene und Kinder diirfen sich nicht in der Nahe der heiRen Oberflache befinden, um
Verbrennungen und das Entflammen der Bekleidung zu vermeiden.

¢ Kinder missen aufmerksam Uberwacht werden, wenn sie sich in der Nihe des Terassenheizgerats
befinden. s

®  Ticher und sonstige éntflammbaren Stoffe dufen nicht Gber das Terrassenheizgerat gehangt oder in
der Nahe des Terrassenheizgerats angebracht werden. '

Das Gasheizgerat nicht in Betrieb nehmen, wenn der Benutzer diese Bedienun sanleitung nicht
lesen oder vallig verstehen kann. Bitte den Verkéufer oder den Lieferant kontakfen fur korrekten
Autbau und korrekte Bedienung und Wartung. Der Lieferant ist nicht fiir Personenschéden und

Sachschaden verantwortlich, die auf Fahrisssigkeit des Benutzers zuriickzufithren sind.




PLAZIERUNG UND AUFSTELLUNG DES TERRASSENHEIZGERATS

_Seiten 60 cm.

 entflammbaren Fliissigkeiten oder Gase aufbewahrt werden.

Das Terrassenheizgerit ist nur fir die Aufstellung im Freien vorgesehen. DECKE
Es muss immer ausreichend frische Luft fiir die Beliiftung zur Verfigung §I
stehen. |

Es muss immer ein ordnungsgeméaier Abstand zu brennbaren
Materialien gehalten werden. d.h. mindestens oben 45 und an den

Das Terrassenheizgerat muss auf einer festen geraden Unteriage
aufgestellt werden.

WAND

Das Terrassenheizgerat darf nicht in einer explosiven Atmosphare
betrieben werden, z.B. in Bereichen, in denen Benzin oder andere

Um das Terrassenhéizgert vor starkem Wind zu schiitzen, muss der
Sockel mit Schrauben am Boden befestigt werden.

BESTIMMUNGEN FUR FLASCHENGAS

Nur Propan- oder Butan-Gas benutzen.

Der maximale Anschlussdruck des Propan-Reglers darf nicht 100 PS! {iberschrsiten.

Es ist ein Gasdruck von mindestens 28 cm W.C. erforderlich, um eine Gasregulierung fir Propan-Gas
vornehmen zu konnen..

Druckregler und Schiauchanschiuf miiBen die geltenden Vorschriften befolgen.

Die Installation muss gemaR den geltenden Vorschtiften erfolgen. Falls keine Vorschriften voriiegen

" miussen die Normen fiir die Lagerung und Handhabung von Flaschengas befolgt werden.

Ein verbeulter, verrosteter oder beschidigter Propangasbehalter kann gefahriich sein und muss vom
Gas-Lieferanien tberpriift werden. Es darf kein Propangasbehélter mit einem defekten Ventil benutzt
werden.

Der Propangasbehditer muss so angebracht sein, dass der Dampf von der im Betneb befindlichen
Flasche abzieht. .

Es dirfen nur genehmigte Propangasbehélter an das Terrassenheizgerat angeschlossen werden.

LECKKONTROLLE

Die Gas-Anschliisse am Terrassenheizgerét werden vor der Auslieferung vom Werk auf Undichtigkeiten
Uberpriift. Vor der Installation muss eine Uberpriifung auf Undlchttgkelten vorgenommen werden, da das
Terrassenheizgerat beim Transport nicht ordnungsgemal& behandelt oder groem Druick ausgesetzt werden
konnte.

Eine Selfenlosung aus einem Teil fliissiges Reinigungsmittel uncl einem Teil Wasser herstellen, Die
Seifenlésung kann mittels Spriihflasche, Burste oder Tuch aufgetragen werden. Bei einer Undichtigkeit
bilden sich Seifenblasen. - :

Das Terrassenheizgerat muss mit einer vollen Gasflaschen kontrolliert werden.

Es muss sichergestelit ¢ sein, dass sich das Sicherheitsventil in -OFF" Sellung befi ndet.

Das Gas aufdrehen (ON) :

Wenn gine Undlchtlgkelt festgestellt wird, das Gas abstellen. Evil. undichte Anschliisse abdichien, das
Gas wieder aufdrehen und erneut kontrollieren.

Bei der Kontrolle auf Undichtheiten darf nicht geraucht werden.



Betried und Lagerung des Terrassenheizers

Anschaiten des Terrassenheizers ,

1. Drehen Sie das Veniil fiir die Gaszufuhr an der Gasflasche ganz auf.

2. Driicken und drehen Sie den regulierbaren Kontrollknopf auf die START-Position(90°
gegen den Uhrzeigersinn). ‘

3. Halten Sie den regulierbaren Kontrollknopf ¢a.30 Sekunden lang gedriickt. Wahrend
Sie den regulier baren Kontrollknopf gedriickt halten,driicken Sie den Zind-Knopf
mehnnals,bis die Startflamme entziindet ist. Lassen Sie den regulierbaren
Kontroliknopf los,sobald die Startflamme brennt. ' ‘

ACHTUNG:

® Wenn eine neue Gasflasche angeschlossen wurde,warten Sie mindestens eire
Minute,damit die Luft aus der Gasleitung durch die Liifteréffnung entweichen kann.

® Stellen  Sie sicherdass der regulietbare Kontrollknopf anhaltend gedrickt
wird,wéhrend Sie die Start flame durch Driicken des Zundknopfs ziinden.

® Die Startflamme kann durch das kleine,runde Sichtfenster mit der Schiebeabdeckung
am unteren Ende der Feuerfensters(auf der linken oder rechten Seite der
Bedienungseinheit) beobachtet und kontroliiert werden.

®  Wenn die Flamme nicht ziindet oder wieder ausgeht,wiederholen Sie Schritt 3.

4. Wenn die Startlamme brennt,drehen Sie den regulierbaren Kontrollknopf auf
Minimal-Positon und lassen Sie ihn fur mindestens 5 Minuten auf dieser
Position,bevor Sie den Terrassenheizer auf die gewiinschte Temperatur einstellen.

Abschalten des Terrassenheizers .
1.Drehen Sie den regulierbaren Kontrollknopf auf die START(PlLOT)—Po_sition.

2.Dricken und drehen Sie den Knopf auf die AUS( CFF)-Position.

Regulierbarer Kontrollknopf

~ Ztindung

lgniter

3.Drehen Sie das Ventil fir die Gaszufuhr an der Gasflasche ganz zu.
Lagerung _ ‘ '
1.SchlieBen Sie immer das Ventil der Gasflasche nach Gebrauch oderim Fall einer
Stérung. : ' '

. 2.Trennen Sie bei NiChtgebrauch oder Einlagerung des Terrassenheizers die Gasflasche
von defmn Zuieitungsschlauch des Terrassenheizers.
3.Zur lLagerung der Gasflaschen beachten Sie bitte die Lagerhinweise ihres
Gaslieferanten. A

Reinigung und Pflege
® Die pulverbeschichteten Oberfiichen mit einem weichen - feuchten Tuch
abwischen.Fiir die lackierten Oberflichen die entsprechenden Reinigungsmittel
benutzen.Keine brennbaren und korrosiven Reinigungsmittel benutzen.
® Verschmutzungen vom Brenner entfernen,damit er sauber und betriebsbereit ist.



TEILE UND SPEZIFIKATIONEN

- 813 mm
/4":‘;\ ]
Reflektor — - \
Strahlungskopf 5 S 3
Brennerboden
Luftzufuhrgitter :
Gasventilregler
Boden der Bedienungseinheit -
_ £
Strandrohr £
. )
8
— = i
| O
Gasbehalter : H i )
Gasebehéltergehéuse : E : f E E
i | i 1 [Ty
1 it Vi [
¥ ¥ ™
i~ A
:O :.E O: _[
Fuliplatte— — - = . ¥

“
A

A. KONSTRUKTION UND MERKMALE

Transportables Terrassen-/Gartenheizgerat mit Gasbehaltergehiuse
Gehaduse aus pulverbeschichtetem Stahl bzw. rostfreiem Stahi
Der I6sbare Gasanschluss ist metallisch versiegelt -

Strahlungskopf im rostfreien Stahl
Warmeausstrahlung vom Reflektor



B. SPEZIFIKATIONEN

¢ O & O &

Nur fir Aussenaufsteliung

Nur fiir Propan-.oder Butangas

Maximale Leistungsaufnahme: 12000 Watt
Mindeste Leistungsaufnahme: 5000 Watt
Gasverbrauch: 450 ¢/Std. - 870 g/Std.

- Gewicht: G.W.24.0Kg

N.W.18.5Kg
Héhe: 2210 mm einschl. Fuliplatte
CE/MUV/CSA gepriiit

¢. TABELLE DER OFFNUNGEN

Gasdruck , -
mm H:(:) ) Hauptoffnung Offnung des Zindbrenners
280/300 1.9 mm 0.18 mm
500 1.8 mm 0.18 mm

INSTALLATION UND WERKZEUG

BENOTIGTES WERKZEUG:

Gabelschlissel, 10 und 13 mm

Roligabelschlissel, (2) 20 cm

Gleitgelenkzangen, 23 ¢cm

Teflon Gas-Dichtungsband

°
e
®
e Philips Schraubenzieher, mittlere Grole
o .
]

Sprihflasche mit Seifenldsund flr Leckiest

LIEFERUMFANG:

FuBplatte mit LPG-Gasflaschengehause
Standrohr mit 3 Standrohrbeschlégen
10 mm X 86 om (L) verzinkies Stahlrohr

3 Bodenbefestigungen _
6 Stiick M8 x 10 mm Bolzen und Muttern fir Bodenbefestigung
2 Mit K/D Réader wéahlbar

Reflekior, 813 mm, mit 6 Unterlegscheiben, @8 mm, und 3 M8 Kapselmuttern
4 Bolzen M8 x10 mm fiir den Zusammenbau von ‘Standrohr und Brenner

6 Bolzen und Muttern M6 x 35 mm fiir Standrohr und Standrohrbeschiage

3 Bolzen und Muttern M8 x 16 mm fiir Standrohrbeschlége und Fulolatte




AUFBAU UND INSTALLATION

SCHRITT3

0

| 1-1. Gie 3 Standrohrbeschlage an
jeweils ihre Position der Unterlage

anbringen, wie auf der Abbildung

gezeigt.

1-2. Bie Standrohrbeschlage mit 3

M8 x 16mm Bolzen an der Fulplatte |

befestigen.

ACHTEN: Fiir montage vor roue, Sefier Sefte
22 .

6-1. Kontrollieren Sie, ob die Verbindung
des senkrechien Standrohrs und Brenners
entsprechend der Anleitung erfolgt ist und
ob alte Bolzen und Muttern festgezogen
wordsn sind.

5-2. Eine &8 mm Unter egscheibe oben auf

3-1. Das Gasbehaltergehtuse jedem Reflektor Stiitzbolzen anbringen.
auf der Fufiplatte anbringen.

4-1. Das Gas-Stahlrohrmutter am Gasanschiud
) des Brenners anbringen.(Sehen seite 21)
2-1. Das Standrehr oben auf die 3 4-2. Die Gas-Stahirmutter und das Gasge-

Standrohrbeschlage stellen. winde festziehen. _ .
2 2. Das Standrohr mit &6 M6 x 35 mm 4-3. Brennereinheit und Standrohr mit 4 6-1. Den Reflektor mit 3 Unterlegscheiben
Bolzen und Muttern an den 3 M6 x 10 mm Bolzen zusammenbauen. und 3 M8 Kapselmuttern befestigen.

Standrohrbeschlégen befestigen. Die

: ‘ - Fir hnockdown” refieftor nsialiicrer,
Bolzen und Multern festziehen. ACHTEN.

sehen seife 23




ENDGULTIG

SCHRITT 7
7-1 Das Gasbehaltergehause auf der Standrohrplattform abstellen.

7-2 'ﬁfen-Regler an den Gasbehélter anschliefen und mit einem
Rollgabelschliiel festziehen.

7-3 Das Endgewinde des Gasschlauches mit dem Regler verbinden.
7-4 Die LPG Gasflasche in der FuRplatte anbringen.



Gasstahlrohr und Gasschlauch Installation
(nur fur Deutschland)

gegen den Uhrzeigersinn

Schritt 2

C_/ ‘ Danach das andere Ende
des Gasstahlrohres am

Gasanschlul} befestigen

Gasstahirohr

O

\

- SchraubenschlilRel

im Uhrzeigersinn @

Schraubenéchluﬁel

Schritt 1

Erst den Gasschlauch an
dem einen Ende des

- Gasstahlrohres befestigen.

Gasschlauch



- KONTROLL-LISTE FUR STORUNGEN

STORUNG

- Ziinder z(indet nicht

Zinder bleibt nicht an

Brenner geht nicht an

EW

WAHRSCHEINLICHER GRUND

Gasventil ist evil. abgestellt (OFF)
Gasbehélter leer

Offnung blockiert

Luftim Zufuhrsystem

 Anschliisse lose -

Verschmutzungen um den Ziinder
Anschliisse lose

Thermoelement nicht in Ordnung
Gasleck in der Leitung

Kein Gasdruck

Gasdruck zu niedrig

Offnung blockiert

Regler nicht gedffnet
Thermoelement nicht in Ordnung
Zinderverbindung verbogen
Unkorrekte Anbringung

ABHILFE

Gasventil aufdrehen {ON)
Gasbehalter auffiillen _
Offnung reinigen bzw. austauschen
Die Luft aus den Leitungen lassen

Samtliche Anschliisse kontrollicren

Verschmutzung entfernen
Anschllisse festziehen
Thermoelement ersetzen

Anschliisse kontroliieren

Gasbehaélter fast leer. Behalter wieder
auffillen

Gasbehadlter fast leer. Béhalter wiéder
auffilien :

Schmutz entfernen und Offnung reinigen
Ventil 6ffnen

Thermoelement austauschen

Zinder ordnungsgeman anbringen
Ordnungsgemaf anbringen und erneut -
versuchen '






CARNET D'ENTRETIEN

DY P E e e e s
N DE SERIE ... e e e e e e e e e
DATE ENTRETIEN PIECES OBSERVATION

REGULIER | ANNUEL

CHANGEES




SOVELOR’





